
Question #80595 

Brass is a mixture of copper (Cu) and zinc (Zn). Let’s say you make brass by  
thoroughly mixing 10.00 g of Cu and 0.25 g of Zn. You then pour out some of this  
material to make a 4.40 g brass coin. how many zinc atoms are in the coin?  

 
Answer: 

There are 9.95*1020 zinc atoms in a 4.40 g brass coin. 

First of all, I have to calculate the mass fraction of Zn in a mixture:  

𝜔(𝑍𝑛) =
0.25

10 + 0.25
= 0.0244 

So, the mass of Zn in 4.40 g brass coin is: 

𝑚(𝑍𝑛)𝑏𝑟𝑎𝑠𝑠 𝑐𝑜𝑖𝑛 = 4.40 ∗ 0.0244 = 0.1074 𝑔 

Therefore, in the coin there are: 

𝑛(𝑍𝑛) =
0.1074

65
∗ 6.022 ∗ 1023 = 9.95 ∗ 1020𝑎𝑡𝑜𝑚𝑠 


